Stoichiometry Practice rame O CLLTTONS

(Old exam questions)

Q) A c:gp :&? m%aar with a simple fireworks demonstration. Black powder is used
asthe a ingredi

The balanced chemical equation for the reaction Is:
2KNO3+8+3C K8 + N2 +3COp

If 20.0 g of carbon are used, what mass of K28 will be produced In the rsaction?
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2) The following equation shows the reaction between aluminum sulfate and

calcium hydroxide. How many moles of aluminum hydroxide are produced
if 15.4moles of Calcium hydroxide react with aluminum sulfate?

Al(SOs)s  + 5Ca(OH)2 — o AOH)s + > CaSOa
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3) Awalder has to cut a metal door with her acstylene (C,Hy) torch.

4)

The foillowing chemical equation represents the combustion of acetylene:

©
2CHz + 503> 4 CO, + 2H;0

How many moles of CO; will be releasad into the atmosphere if the welder uses
12 kg of acatylone to cut the metal door?
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Barlum chioride, BaCly, Ia used in fireworks to produce a bright green color. Gary tried to

produce BaCly by reacting hydrochlorie acid, HCY, with barium hydroxide, Ba(OH),, according to
the chamical reaction below.

2HClpg + Ba(OH)ary — BaClyyy + 2H,0p
Gary used 100.0 ml of a HC! solution and obtained 7.8 g of BaCl,,
What was the molar concantration of tha HCI sclution used In this reaction?
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